Every Second Breakpoint - Broken Pieces Bonus Puzzle

Draw a closed loop, moving horizontally and vertically, that visits all cells exactly once. It makes 90° turn at

ﬁ every cell with a circle. There is also exactly one 90° turn between two consecutive circles that the loop
Z visits. One of the 6X6 pieces (4X4 in the example) given alongside the puzzle grid needs to be fit inside the
grid in the marked region. Rotating or mirroring of pieces is not allowed.
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e Check out more such puzzles at LMI August Puzzle Test .
; This puzzle is written by Deb Mohanty, as a Bonus Puzzle for “Broken Pieces” Brﬂh&“ Pf EEES
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